a(0 @) (raqd)

H
S
o

SICEWATL

107}

o p/p.)

Ratio

=
)
TTTT T TTT T

|
w

1

2

3

TP n (PCA to beamline)

a(d cot(d))

1072

1073

|
[ LA RARRN LR

-2 -1 0 1 2 3
TP n (PCA to beamline)

—s=— DQM_V0001_R000000001__Global__cmssw1000time__RECO
—e— DQM_V0001_R000000001__Global__mkFitNewOLD1000time__RECO
—— DQM_V0001_R000000001__Global__mkFitNewBinsAdj1000time__RECO

21 S

=

-2 -1 0

1

2

3

TP n (PCA to beamline)

2

3

TP n (PCA to beamline)

z

oo a,) (cm)

107 b

1

1072
1.5

10

Rati

=

0.5

|
™

2 3
TP n (PCA to beamline)



	Contents
	Page 1


